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Program Description
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Busl | cardl.txt v' Simulation
) caleul | card2.txt

clock | card3.txt

exe | cardd ixt

manual | cardS.txt

Subl | card6.txt
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Program Description
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exe | cardd ixt

manual | cardS.txt
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Invalid Test Case ldentification

PTS STC 001_002 Check Transfer == True INVALID

PTS_STC 001_003 Check Transfer == false INVALID

(Tagger.previime + time) >=T

PTS_STC_002_001 :
agger.nextTime

INVALID

(Tagger.previime + time) <=T

PTS_STC_002_002 :
agger.nextTime

INVALID




Invalid Test Case ldentification
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PTS STC 004 002 Check Transfer == True INVALID

PTS_STC 004 003 Check Transfer == false INVALID

(Tagger.previime + time) >=T

PTS_STC_005_001 :
agger.nextTime

INVALID

(Tagger.previime + time) <=T

PTS_STC_005_002 :
agger.nextTime

INVALID




Invalid Test Case ldentification

Bus -> Sub
PTS_STC_007_000 All charge=(Bus+Sub)+Sub INVALID
Charge=Bus+sub

Sub -> Bus
PTS_STC_007_001 All charge=(Sub+Bus)+Bus INVALID
Charge=Sub+Bus

Bus -> Bus Company =
PTS_STC_007_002 {YYYY,MM,DD,TRANSFER,Charg INVALID
e}

Sub -> Sub Company =
PTS_STC_007_003 {YYYY,MM,DD,TRANSFER,Charg INVALID
e}
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v Process Specification

Name Check Transfer
Input Classified Bus/Sub Charge
Output Calculated Bus/Sub Charge
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Structured Charts(Basic)
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Structured Charts(Advanced)
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Check Transfer == True INVALID
Check Transfer == false INVALID
Check Transfer == True INVALID

Check Transfer == false INVALID
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- (Tagger.preleme + time) >= INVALID

Tagger.nextTime

- (Tagger.preleme + time) <= INVALID
Tagger.nextTime

- (Tagger.preleme + time) >= INVALID
Tagger.nextTime

- (Tagger.preleme + time) <= INVALID
Tagger.nextTime
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Test Result CHE

Bus -> Sub
All charge=(Bus+Sub)+Sub INVALID
Charge=Bus+sub

Sub -> Bus
All charge=(Sub+Bus)+Bus INVALID
Charge=Sub+Bus
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Test Result CHE

Bus -> Bus Company =
{YYYY,MM,DD, TRANSFER,Char INVALID

ge}

Sub -> Sub Company =
{YYYY,MM,DD, TRANSFER,Char INVALID
ge}

— SRASL SDSO|A FA| Z| O AKX 2 F3HA] X2

\_ /




